Tender No: All-EN-RUBCoverShed-165B

GM/DFCCIL/AJMER acting for and on behalf of The President of India invites E-Tenders against Tender No **AII-EN-RUBCoverShed-165B** Closing Date/Time 15/06/2022 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

Contractors are allowed to make payments against this tender towards tender document cost and earnest money only through only payment modes available on IREPS portal like net banking, debit card, credit card etc. Manual payments through Demand draft, Banker cheque, Deposit receipts, FDR etc. are not allowed.

1. NIT HEADER

Name of Work	Providing Cover Sheds on miscellaneous balance RUBs/FOBs and other structure in Bhinwaliya Station(Excluding) to Iqbalgarh Station(Including) Section of WDFC under CGM All Unit					
Bidding type	Normal Tender					
Tender Type	Open	Bidding System	Two Packet System			
Tender Closing Date Time	15/06/2022 15:00	Date Time Of Uploading Tender	21/05/2022 12:34			
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable			
Advertised Value	380527920.48	Tendering Section	WORKS			
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par			
Earnest Money (Rs.)	2052600.00	Validity of Offer (Days)	60			
Tender Doc. Cost (Rs.)	0.00	Period of Completion	18 Months			
Contract Type	Works	Contract Category	Expenditure			
Bidding Start Date	01/06/2022	Are Joint Venture (JV) firms allowed to bid	Yes			
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)			

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit		
Schedu	Ile A-CPWD S	SOR 2018					370612976.80			
	Please see It	tem Breakup f	or details.		199569.30	AT Par	199569.30			
1	foundation tr ramming of t	enches or dra	ains (not exc oto 1.5 m, in	ceeding 1.5 m in	hanical means (H width or 10 sqm o It the excavated sc	n plan), inc	luding dressing of	sides and		
	Please see It	tem Breakup f	or details.		35448.66	AT Par	35448.66			
2	trenches or o	drains (not ex upto 1.5 m, ind	ceeding 1.5	m in width or 10	eans (Hydraulic ex sqm on plan), inclu ted soil and dispos	uding dress	sing of sides and r	amming of		
	2 25	501.00	cum	219.65	110044.65	AT Par	110044.65			
3	Description:- Filling available excavated earth (excluding rock) trenches, plinth, sides of foundations etc. in layers not exceeding 20c in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m.									
	Please see It	em Breakup f	or details.		3239555.50	AT Par	3239555.50			
4	Description:- 4.6 precast cement concrete in kerbs, edgings etc. as per approved pattern and setting in positionwith cement mortar 1:3 (1 Cement : 3 coarse sand), including the costof required centering, shuttering complete.									
	415	80.00	cum	6259.10	500728.00	AT Par	500728.00			
5	Description:- 4.1.5 1:3:6 (1 Cement: 3 coarse sand (zone-III) derived from natural sources: 6 graded stone aggregate 20 mm nominal size derived from natural sources)									
	Please see It	tem Breakup f	or details.		2338629.75	AT Par	2338629.75			
6	Description:- 5.1 Providing and laying in position specified grade of reinforced cement concrete, excludi cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:						cluding the			
-	Please see It	tem Breakup f	or details.		440947.80	AT Par	440947.80			
1	Description	:- 5.9 Centerir	ng and shutte	ering including str	utting, propping etc	c. and remo	val of form for			
	Please see It	em Breakup f	or details.		1075062.50	AT Par	1075062.50			
8	Description:- 5.22 Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in positio and binding all complete upto plinth level.									

Closing Date/Time: 15/06/2022 15:00

Tender No: All-EN-RUBCoverShed-165B

	Please see l	tem Breakup fo	r details.		264372898.90	AT Par	264372898.90				
9	Description	:- 10.16 Steel	work in built	up tubular (rou	nd, square or recta	angular ho	llow tubes etc.) tr	usses etc.,			
Ū	-	••••••	• •		a priming coat of a	approved s	teel primer, includ	ing welding			
		ith special shar	1	•							
	102	903890.00	Kg	101.75		AT Par	91970807.50				
10	-				or welded in built	•					
	_				a priming coat of a	-		olete.			
11	1019	172258.00	Kg	83.85		AT Par	14443833.30				
					olding down bolts w			lete			
12	1020	36460.00	Kg	128.45	4683287.00	AT Par	4683287.00				
·-	Description	:- 10.20 Provid	ing and fixing	g bolts including	nuts and washers c	omplete.					
	Please see l	tem Breakup fo	r details.		930160.20	AT Par	930160.20				
10	-				alvanised(min coati	-					
13) counter sunk he concreate /masona						
	1250	85079.00	Sqm	627.55	53391326.45	AT Par	53391326.45				
	-		-		galvanised iron pr			-			
					mm_(+ 0.05 %) to						
14					de, 5-7 microns epo protective guard						
					in single length upto						
					If tapping screws of						
					surfaces, excluding	g the cost of	of purlins, rafters a	and trusses			
				wherever require							
15		tem Breakup fo			8149720.00	AT Par	8149720.00				
	-		-	r proofing cemer	nt paint of required						
	Please see l	tem Breakup fo	r details.		5788332.55	AT Par	5788332.55				
16	Description:- 13.61 Painting with synthetic enamel paint of approved brand and manufacture to give an even										
	shade : 1611 6884.00 Sgm 730.20 5026696.80 AT Par 5026696.80										
17	1611 Durinting	6884.00	Sqm		5026696.80	AT Par	5026696.80				
	Description	:- 16.11 Dry sto	· · ·	22.5cm thick inc	g supply of stones a	and prepar	ing surface comple	ete			
	1650	1080.00	Each Sample	2481.60		AT Par	2680128.00				
					of size 100x20 m						
					h impact polystyrer as approved by En						
18					STM D4280. The s						
					n sides with at least						
					tion and shall be t shall be fixed to						
					e manufacturer con		-				
	in-charge.	, p p									
	1662	860.00	Sqm	607.30	522278.00	AT Par	522278.00				
	Description	:- 16.62 Provid	ling and app	lying 2.5 mm thi	ck road marking st	rips (retror	eflective) of speci	fied shade/			
		Description:- 16.62 Providing and applying 2.5 mm thick road marking strips (retroreflective) of specified shade/ colour using hot thermoplastic material by fully/ semi automatic thermoplastic paint applicator machine fitte									
19					k heater andprofile						
			-		oour, T&P, cleaning	-					
	specification	-				sharge and		applicable			
	1693	542.00	Sqm	2525.35	1368739.70	AT Par	1368739.70				
	Description				100 mm thick facto			& machine			
	mixed Preca	st RCC Rectan	gular Covers	s on drains of fo	otpath of various siz	zes, of M-2	25 grade cement c	oncrete for			
20		-	-	-	nforcement of 8 m			-			
					ing on finished surfa						
					er priming coat, rei s etc i/c cost of cart			-			
		as per direction									
	ch23	7.00	Numbers	400000.00	2800000.00	AT Par	2800000.00				
21					r DSR-2018 Chapte						
1	<u> </u>		5	\ I	1	,					

Tender No: All-EN-RUBCoverShed-165B

	Please see It	em Breakup f	or details.		8576647.50	AT Par	8576647.50				
22	Description:- 26.35 Providing and injecting approved grout in proportion recommended by the manufacturer into cracks/honey-comb area of concrete/ masonry by suitable gun/pump at required pressure including cutting of nipples after curing etc. complete as per directions of Engineer-in Charge.(The payment shall be made on the basis of actual weight of approved grout injected.)										
00	Misc DSR	1.00	Numbers	2500000.00	2500000.00	AT Par	2500000.00				
23	Description:- Misc SOR items to complete the work(Lumpsum)										
0.4	24	1.00	Numbers	-118786210.52	-118786210.52	AT Par	-118786210.52				
24	Description:- Rate reduced by 25% as per NWR LETTER DATED 06.03.2020										
05	CostIndex	1.00	Job	14254345.26	14254345.26	AT Par	14254345.26				
25	Description	- Add cost ind	lex 4% as th	e work is executed	d in Ajmer region						

S.No.	ltem Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit		
Schedul	e B-NS Item	ı					9914943.68			
	NS1	16048.00	Each	212.16	3404743.68	AT Par	3404743.68			
1	Description:- Proving hole in harden concrete surface by drilling machine up to dia 30mm including all labour ,machinery and material cost									
	NS2	18.00	Vehicle- Month	55900.00	1006200.00	AT Par	1006200.00			
2	Description:- Hiring and operating of multi-utility vehicle(open) mahindra bolero camper or similar with loading capacity of 4/6 persons, 4 cylinder engine, axle configuration 4*2, factory built metal body cargo box type or passengercabin type or both(with 24*7 hours availablity along with driver),including cost of fuel, lubricats, a repairs, salary of driver, all taxes excluding GST including running ip to 3000km in a month. The Vehicle shall run on pucca kutcha roadand along the track .Toll tax ,interstate tax /state entry tax /octoroi tax ,parking charges or tour will be reimbursed agter having submitted the proof. The vehicle shall not be more than two years old.						box type or lubricats,all cle shall run charges on			
3	NS3 Descriptio	2400.00 n:- NS3 Finish		2260.00 nd painting	5424000.00	AT Par	5424000.00			
	NS4	10.00	i	8000.00	80000.00	AT Par	80000.00			
4	Descriptio	n:- NS 4 Conv	vex Mirror for I	Blind Curve (C	ircular polycarbon	ate mirror siz	ze 800mm)			

3. ITEM BREAKUP

Schedule	Schedu	le A-CPWD SOR 2018							
ltem- 1	or drain lift upto	2.8 Earth work in excavation by mechanical means (Hydraulic excavator) /manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, ift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.							
S No.	ltem No	Description of Item	Unit	Qty	Rate	Amount			
1	281	All kinds of soil.	cum	791.00	252.30	199569.30			
					Total	199569.30			
Item- 2 S No.	drains (avation work by mechanical means (Hydraulic excavator)/ not exceeding 1.5m in width or 10 sqm on plan), including 5 m, including getting out the excavated soil and disposal 50 m. Description of Item	dressing	of sides and	ramming o	of bottoms, lift			
5110.	No	Description of item	onn	Gity	nate	Amount			
1	291	Ordinary rock	cum	79.10	448.15	35448.66			
			•		Total	35448.66			
ltem- 4		4.6 precast cement concrete in kerbs, edgings etc. as per approved pattern and setting in positionwith cement mortar 1:3 (1 Cement : 3 coarse sand), including the costof required centering, shuttering complete.							
		1:3 (1 Cement : 3 coarse sand), including the costof requi	rea cente	ing, shuttern	ig oompiet	e.			
S No.	ltem No	1:3 (1 Cement : 3 coarse sand), including the costof requi Description of Item	Unit	Qty	Rate	e. Amount			
S No. 1			Unit	-	Rate				

Tender No: All-EN-RUBCoverShed-165B

ltem- 6		viding and laying in position specified grade of reinforced on ng, shuttering, finishing and reinforcement - All work up to			ding the c	cost of
S No.	ltem No	Description of Item	Unit	Qty	Rate	Amount
1	512	1:1.5:3 (1 cement: 1.5 coarse sand (zone-III) derived from natural sources : 3 graded stone aggregate 20 mm nominal size de rived from natural sources)	cum	303.00	7718.25	2338629.75
					Total	2338629.75
ltem- 7	5.9 Cer	tering and shuttering including strutting, propping etc. and	d removal	of form for		
S No.	ltem No	Description of Item	Unit	Qty	Rate	Amount
1	591	Foundations, footings, bases of columns, etc. for mass concrete	Sqm	1548.00	284.85	440947.80
					Total	440947.80
Item- 8		eel reinforcement for R.C.C. work including straightening, blete upto plinth level.	cutting, b	ending, placin	ig in posit	ion and binding
S No.	ltem No	Description of Item	Unit	Qty	Rate	Amount
1	5226	5.22.6 Thermo-Mechanically Treated bars of grade Fe- 500D or more	Kg	12875.00	83.50	1075062.50
					Total	1075062.50
ltem- 9	cutting,	teel work in built up tubular (round, square or rectangular hoisting, fixing in position and applying a priming coat of a vith special shaped washers etc. complete.				
S No.	ltem No	Description of Item	Unit	Qty	Rate	Amount
1	10161	10.16.1 Hot finished welded type tubes	Kg	1842962.00	143.45	264372898.90
					Total	264372898.90
Item- 13	threade	roviding and fixing carbon steel galvanised(min coating 5 d 6.8 grade(yield strength 480N/mm2) counter sunk head ncluding drilling of hole in frame , concreate /masonary et	l,comprisi	ng of 10mm o	lia polymi	de PA6grade
S No.	ltem No	Description of Item	Unit	Qty	Rate	Amount
1	10274	10*140 mm	Each Sample	1876.00	145.65	273239.40
2	10275	10.27.5 10*160 mm	Each Sample	3672.00	178.90	656920.80
					Total	930160.20
Item- 15	13.44 F	inishing wall water proofing cement paint of required shace	le			
S No.	ltem No		Unit	Qty	Rate	Amount
		Description of Item				Amount
1	13441	Description of Item 13.44.1 New work(Two or more coats applied at 3.84kg/Sqm	Sqm	89312.00	91.25	8149720.00
		13.44.1 New work(Two or more coats applied at 3.84kg/Sqm			Total	8149720.00 8149720.00
1 Item- 16		13.44.1 New work(Two or more coats applied at			Total	8149720.00 8149720.00
	13.61 F Item No	13.44.1 New work(Two or more coats applied at 3.84kg/Sqm ainting with synthetic enamel paint of approved brand and Description of Item	d manufac Unit	ture to give a	Total In even sh Rate	8149720.00 8149720.00 nade : Amount
Item- 16 S No.	13.61 F Item	13.44.1 New work(Two or more coats applied at 3.84kg/Sqm ainting with synthetic enamel paint of approved brand and	d manufac	cture to give a	Total In even sh Rate 121.55	8149720.00 8149720.00 nade : Amount 5788332.55
Item- 16 S No.	13.61 F Item No	13.44.1 New work(Two or more coats applied at 3.84kg/Sqm ainting with synthetic enamel paint of approved brand and Description of Item	d manufac Unit	ture to give a	Total In even sh Rate	8149720.00 8149720.00 nade : Amount
Item- 16 S No.	13.61 F Item No 13611 26.35 F cracks/I nipples	13.44.1 New work(Two or more coats applied at 3.84kg/Sqm ainting with synthetic enamel paint of approved brand and Description of Item 13.61.1 Two or more coats on new work roviding and injecting approved grout in proportion recom noney-comb area of concrete/ masonry by suitable gun/pu after curing etc. complete as per directions of Engineer-in	d manufac Unit Sqm mended t	ture to give a Qty 47621.00 by the manufa quired pressu	Total an even sk Rate 121.55 Total acturer int re includir	8149720.00 8149720.00 hade : Amount 5788332.55 5788332.55 o ng cutting of
S No. 1	13.61 F Item No 13611 26.35 F cracks/I nipples	13.44.1 New work(Two or more coats applied at 3.84kg/Sqm ainting with synthetic enamel paint of approved brand and Description of Item 13.61.1 Two or more coats on new work roviding and injecting approved grout in proportion recom- noney-comb area of concrete/ masonry by suitable gun/pu	d manufac Unit Sqm mended t	ture to give a Qty 47621.00 by the manufa quired pressu	Total an even sk Rate 121.55 Total acturer int re includir	8149720.00 8149720.00 hade : Amount 5788332.55 5788332.55 o ng cutting of
Item- 16 S No. 1 Item- 22	13.61 F Item No 13611 26.35 F cracks/I nipples basis of Item	13.44.1 New work(Two or more coats applied at 3.84kg/Sqm 'ainting with synthetic enamel paint of approved brand and Description of Item 13.61.1 Two or more coats on new work 'roviding and injecting approved grout in proportion recommoney-comb area of concrete/ masonry by suitable gun/pu after curing etc. complete as per directions of Engineer-in actual weight of approved grout injected.)	d manufac Unit Sqm mended t ump at rec Charge.(Unit	ture to give a Qty 47621.00 by the manufa quired pressu The payment	Total In even sh Rate 121.55 Total acturer int re includir s shall be i	8149720.00 8149720.00 nade : Amount 5788332.55 5788332.55 ong cutting of made on the

Tender No: All-EN-RUBCoverShed-165B

Total 8576647.50

4. ELIGIBILITY CONDITIONS

Important : All documents uploaded and remarks / confirmation entered by the bidders against any eligibility condition shall be opened as part of technical bid only

Special Technical Criteria

S.No.	Description	Confirmation Required		Documents Uploading
1	The tenderer must have Successfully or Substantially* completed any of the following during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: Three similar works, each costing not less than the amount equal to30% of advertised value of the tender, OR Two similar works, each costing not less than the amount equal to 40% of advertised value of the tender, OR OR of advertised value of the tender. Note: "The similar nature of work is defined is "Any Civil Engineering Work involving at least 500 MT of Structural Steel Work of Supply, Fabrication, Erection & its Welding".	No	No	Allowed (Mandatory)

Special Financial Criteria

S.No.	Description	Confirmation Required		Documents Uploading
1	Financial Eligibility Criteria: The tenderer must have minimum average annual contractual turnover of 1.5 V/N crores; where V= Advertised value of the tender in crores of Rupees N= Number of years prescribed for completion of work for which bids have been invited. The average annual contractual turnover shall be calculated as an average of "total contractual payments" in the previous three financial years, as per the audited balance sheet. However, in case balance sheet of the previous year is yet to be prepared/ audited, the audited balance sheet of the fourth previous year shall be considered for calculating average annual contractual turnover. The tenderers shall submit requisite information as per Annexure-VIB of GCC APRIL-2022, along with copies of Audited Balance Sheets duly certified by the Chartered Accountant/ Certificate from Chartered Accountant duly supported by Audited Balance Sheet. Note : Client certificate from other than Govt Organization should be duly supported by Form 16A/26AS generated through TRACES of Income Tax Department of India. As per Clause No. 10.2 of Tender Form (second Sheet) of Annex. I of Part-I of GCC APRIL-2022, with up to date correction slip.	No	No	Allowed (Mandatory)

5. COMPLIANCE

Important : All documents uploaded and remarks / confirmation entered by the bidders against any compliance condition shall be opened as part of technical bid only.

Commercial-Compliance

S.No.	Description	Confirmation Required		Documents Uploading
	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Yes	Allowed (Optional)

6. Documents attached with tender

S.No.	Document Name	Document Description
1	TechnicalBidMJND-PNUN.pdf	Technical Bid
2	FinancialBidMJND-PNUN.pdf	Financial Bid

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: VIPIN PARIHAR Designation : DYPMHQ